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ﬁg TREOBBOESSLADKRES TREDHBESSLADKRES TREOBHOEILADKRES TREDHESSLNDKRES
= = W HVE AV T = = AV = AV s =
&5 K 4 .(Er,na; Tmb(:)@&ﬁ%ﬁ jj(gilzcn%é X 4 Tinﬁﬁégzg;kl 'Z]n%( jn(:iacn%é X 4 ,(Er,na; J:mfa(z)@tt.a jn(z')\lzcn%é X 4 J:m;b(:)wtt.a 'Z]n%{ jn(gilzcnié
; 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 382| 162.14 |3ImEBZB| 0.00 ~ 224 | 4.04 21.59 | 100kN/MZ#BZ5 | 1.00 | 1053 ~ 8629 | 162.14 |3mERZB| 25.00 ~ 8629 | 4.04 21.59
Zh st 1.00| 382 ~ 160 100.00| ThLs | 224 ~ 1160 3.00 16.05 Fhst 1.00 | 5.00 ~ 1053 100.00 | =ns | 5,00 ~ 2500| 3.00 16.05
2 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 365| 159.06 |3mEBZB| 0.00 ~ 214|896 21.19 | 100kN/MZE#BZ 5 | 1.00 | 1057 ~ 8636 | 159.06 |3mEHZB| 3000 ~ 86.36| 5.96 21.19
Zhst 1.00 | 365 ~ 1143 100.00 | ThLSY | 214 ~ 1143 3.00 16.05 Fhs 1.00 | 5.00 ~ 1057 100.00 | =nst | 5,00 ~ 3000\ 3.00 16.05
3 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 360 | 15825 |3m&EBZB| 000 ~ 211|594 21.09 | 100kN/MZH#BZ5 | 1.00 | 1059 ~ 87.98| 158.256 |3m&EBZB| 3000 ~ 87.98| 5.94 21.09
ZhnLst 1.00| 360 ~ 1139 100.00 | TS | 211 ~ 1139 3.00 16.05 Zh st 1.00 | 5.00 ~ 1059 100.00 | #nst | 5,00 ~ 3000\ 3.00 16.05
4 100kN/mM%E#BZ5 | 1.00 | 0.00 ~ 3.54 157.08 |3m%E#BZB| 0.00 ~ 208|592 20.97 | 100kN/mMZ#BZ5 | 1.00 | 1063 ~ 8802 157.08 |3m&EBZB| 3000 ~ 8502|592 20.97
Zh st 1.00| 364 ~ 1132 100.00 | TS | 208 ~ 1132 3.00 16.05 Fhs 1.00 | 5.00 ~ 1063 100.00 | =ns | 500 ~ 3000\ 3.00 16.05
5 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 310| 149.45 |3mEBZD| 000 ~ 187|379 20.26 | 100kN/mMZE#BZ5 | 1.00 | 11.00 ~ 8257 149.45 |3mERZB| 4000 ~ 8257|579 20.26
Zh st 1.00| 310 ~ 1089 100.00 | ThLS | 1.87 ~ 1089 3.00 16.05 Fhs 1.00 | 5.00 ~ 11.00| 100.00 | =ns | 5,00 ~ 40.00| 3.00 16.05
6 100kN/mM%#BZ 5| 1.00 | 0.00 ~ 268 142.28 |3m&EBZB| 0.00 ~ 1.70| 5.69 19.73 | 100kN/mM%E#BZ 5% | 1.00 | 11.565 ~ 81.88| 14228 |3m%ERBAB| 40.00 ~ 81.88| 3.69 19.73
zhLst 1.00| 268 ~ 1047 100.00 | ThLS | .70 ~ 1047| 3.00 16.05 Zh st 1.00|5.00 ~ 11.55| 100.00 | =nst | 5,00 ~ 40.00| 3.00 16.05
. 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 4.96 61.81 | TN | 000 ~ 496 1.73 9.27 ZzhLs 1.00 | 5.00 ~ 5625 61.81 | #nLs | 5.00 ~ 6.25|1.73 9.27
g 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z — -~ — — |3mZERBZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 4.77 59.40 | L | 000 ~ 0.00| 1.69 9.06 ZzhLs 1.00 | 5.00 ~ 56.00 59.40 | =0 | 5,00 ~ 5.00 | 1.69 9.06
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




